-

=
oM

& AF R £ A X & =i 2 g

24
=

£ Al M

KAEHEZ2 H2E-TH0I =& (H1400xW2000, =)

2 Xk 20242 &
SHE: FEMEH
1577-8549

EL
AX: (02)3436-6450




g o o i
NEAHS2H2E-0H0I 28 (H1400xW2000, =Xl)
M2 Loy 2zl g
zz e = b D
o It = o g I} = o g I} = o g I} = o
1. REHE 220 T8 (H1400xW2000, EM)& X BA "Z2IE (DHS)
EBIELTEY M16X190 4 o 2,500 10,000 2,500 10,000
X OE(UHLEE)  0101.6X2tX1320 1 = 75,000 75,000 75,000 75,000 |SS0lRCI+ENEE
WIEET ®101.62 1M 9,600 9,600 9,600 9,600 |SS0IIEI+ENEE
S ®76.3x2050x2t 1 = 45,000 45,000 45,000 45,000 |2S0lRCI+ENEE
S ®50.8x2050x2t 3 26,000 78,000 26,000 78,000 |2S0lRCI+ENEE
Hoy Lo A=RE M8x110(A &) 1M 1,500 1,500 1,500 1,500
SFOZB/BUE  M8x110(AH) 3 M 1,200 3,600 1,200 3,600
BEALXI 50X320 1 = 3,300 3,300 3,300 3,300
A (RIZHI) 226,000 - - 226,000

x| ztorn 0.014 9l 210,152 3,026 210,152 3,026 B e L e

' sgwolz 0.108 o 214,202 23,135 214,222 23,135 | e e P2 e

' gsoi=s 0.216 o 165,545 35,757 165,545 35,757 | e R B P2 o
s ®1 inch 0.040 | hr 437 17 437 17 |2l e SR BelUenane) Pras AIRION,
3crR0HIE ®1 inch 0.010 i 41,600 416 41,600 416 Wb DES MR R HEnann) P
| 25kw 0.400 | hr 9,437 3,774 33,571 13,428 3,237 1,294 46,245 18,496 202f MES N RERAI s DIe SEde
goesy 2.5ton 0.400  hr 7,083 2,833 47,231 18,892 6.169 2,467 60,483 24,102 | e e e 18
M=l ol EZ9l 3% 1 4 1,857 1,857 1,857 1,857 2024 AL ZANEEZH(HIALE3]) P.746

AH (M XIH) 8,880 94,238 3,778 106,896
b 234,880 94,238 3,778 332,896
*"'m"S ©Of 332,896 / 2m = 166,448




U= L 24l 2 dl g A
33 2 =g el
=l = % =l = % =l = % =l = %
2. RPN 2L2-TH0| I8 S (H14002 M )& XISAH"HA"SE (LSBB)
AHDIZHHA M16X190 20 M 2,500 5,000 2,500 5,000
®101.6X2tX1320 0.5 = 75,000 37,500 75,000 37,500 |E80IHTS+EMT
=8 ®101.68 0.5 M 9,600 4,800 9,600 4,800 ES0HZ3+EMNT
ol & & eeede 1 oM 18,000 18,000 18,000 18,000 |280A=2+2XT
HEYLHBZE M8x110(AEl) 0.5 & 1,500 750 1,500 750
EFHZEB/YUE M8x110(AEl) 1.5/ H 1,200 1,800 1,200 1,800
ELNN 50X320 0.5 & 3,300 1,650 3,300 1,650
A (RSHI) 69,500 - - 69,500
A X8l =43 0.01 ol 210,152 1,513 210,152 1,618 [ EET2S 50% HE
A X8l Sgog 0.05 | ¢l 214,222 11,567 214,222 11,567 |[HEE722 50% &
2308 0.11 ol 165,545 17,878 165,545 17,878 |HE722 50% &
e ®1 inch 0.02 | hr 437 8 437 8 |HETZ22 50% HE
3HIAHHIE ®1 inch 0.01 N 65,000 325 65,000 325 |EET2A50% HE
sl 2.5ton 0.20 | hr 9,437 1,887 33,571 6,714 3,237 647 46,245 9,248 EET2AC 50% Mg
HOEg 2.5ton 0.20 | hr 7,083 1,416 47,231 9,446 6,169 1,233 60,483 12,095 |HEE722 50% &
= HI ol F2l 3% 1) Al 928 928 928 928 20244 AL ZANEEE
2H(EXMHI) 4,556 47,118 1,888 53,562
Al 74,056 47,118 1,888 123,062




p) = H
M Z 8l L 24l s
25 7= > ST
& Ot Z o & It =R o e ot = o
u:30E =
6 437 438 AT 21 2 5 a1 000525850, 00000)
Al 437 437
H : ZHED|(25kw)-'Al2'E
25kw 3.237 3,237 3,287 %?iﬁaiiﬁ%giié?ﬁ&&&z@s@%.oooooo1
0.001W% S 1,770 7,611 1,770 7,611 2024.01 HeHot= P.1451
FHZO| 24% 7,611 1,826 7,611 1,826
28 A 33,571 33,571 33,571 33,571 |M4s=
Al 9,437 33,571 3,237 46,245
* HI3&H : GO E=(2.5ton)-'Al2H'E
2.5ton 6.169 6.169 6.169 %?iﬁaiiﬁ%giiggﬁgéggzgf%.oooooo1
0.001W% S 1,770 5,133 1,770 5,133 |2024.01 HeHIt= P.1451
FHZ 2| 38% 5,133 1,950 5,133 1,950
A 47,231 47,231 47,231 47,231 M55 E
Al 7,083 47,231 6,169 60,483
* 4SS H : AEDIHSEA-AY'Y
|28 A 161,142 33,571 161,142 33,571 | 12I1F AI2ExA 01 H 4:x & XI H 4==(1/8)x(16/12)x(25/20)
* RIS H : SISXUHST A=Al
A 226,709 47,231 226,709 47,231 1LIIEA2xAHO 2 2x 5 X1 2 4= (1/8)x(16/12)x(25/20)
=
2024.1.101& - 214,222 214,222 214,222 214,222
2024.1.1J1& - 165,545 165,545 165,545 165,545
2024.1.101& - 243,126 243,126 243,126 243,126
2024.1.1J1& - 210,152 210,152 210,152 210,152
S8 A 2024.1.101& - 161,142 161,142 161,142 161,142
& A 2024.1.101& - 226,709 226,709 226,709 226,709




-

=
oM

& AF R £ A X & =i 2 g

£ Al M

NEHECZ2LH20-T0| & (H1400xW2000, AEl)

g At 20242 &
SHE: AR
TEL 1577-8549
FAX: (02)3436-6450




o9 9 W I E
ENEZH & (H1400xW2000, A&l)
M 2 = 2l I g
= = e = Bl 2
e I} 2 o e ot 2 o e o} 2 o e o} 2 o
1. RPN S2H2A-TH0| T H (H1400xW2000, ABNEXIBA 'Z2AH'SY (DBE
012 U3 M16X190 4 2,500 10,000 2500 10,000
R F(AHBEE) ©101.6X21X1320 1= 207,000 207,000 207,000 | 207,000 AHeiaA
=g ®101.68 1M 9,600 9,600 9,600 9,600 ES0tACS+EUCE
=T ©76.3x2050x2t 1= 125000 125,000 125,000 | 125,000 |Adioia
kS ©50.8x2050x2t 3 M 82,000 246,000 82,000 | 246,000 |AEjoia
HoHUAZBZE  MBxTI0(AH) 1o 1,500 1,500 1,500 1,500
YFAB/BUE  M8xI10(£EH) 3 M 1,200 3,600 1,200 3,600
BEALKI 50X320 1= 3.300 3,300 3,300 3,300
A (RIZH) 606,000 - - 606,000

ZRL oz 0.014 | ¢! 210,152 3,026 210,152 3,026 B e e e e o

' sgow 0.108 | ¢! 214222 | 23,135 214,002 | 23,135 B e e x oom

' EEE 0.216 | ¢! 165,545 = 35,757 165,545 35,757 2 e e ol s 20%
aojcy ®1 inch 0.040 | hr 437 17 437 17 A O R RS ST A P TS B,
CEENES ®1 inch 0.010 I 41,600 416 41,600 a1p Ao e R AL P
EIESP] 25kw 0.400 | hr 9,437 3774 33571 13,428 3.237 1,294 46,245 18,496 |2 e e 20
yEEs 2.5ton 0.400 | hr 7,083 2833  47.23 18,892 6.169 2,467 60,483 24,192 B e T ot s A
ZM=Hl UHE2| 3% oA 1,857 1,857 1,857 1,857 2024 ALHESH(ALATA) P.746

AH(ERIHI) 8,880 94,238 3,778 106,896
o 614,880 94,238 3,778 712,896
*'m'"S G} 712,896 / 2m = 356,448




= Sl ot
M 3 g 2
33 S =2 el
=l = 9 =~ = o = % = Ot = %
2. HBHT2H2t-T0| T8 2 (H14002 X A" (DEE)
A 012 U M16X190 I 2,500 5,000 2,500 5,000
®101.6X2tX1320 = 207,000 103,500 207,000 103,500 |AHIQEHA
A= ®101.6&8 I 9,600 4,800 9,600 4,800 ES0IHES+EHEE
ol 2 Heees H 18,000 18,000 18,000 18,000 |22~
HEYLAZEE M8x110(AEl) & 1,500 750 1,500 750
EF=HZB/AUE M8x110(AEl) H 1,200 1,800 1,200 1,800
BEALXI 50X320 & 3,300 1,650 3,300 1,650
AH(HIEBI) 135,500 - - 135,500
A XY Ege e ol 210,152 1,513 210,152 1,513 |EER2S 50% X&
A XY SEgos ol 214,222 11,567 214,222 11,567 |BEF22 50% HE
2308 ol 165,545 17,878 165,545 17,878 |BEF22 50% HE
ZNHEE ®1 inch hr 8 437 8 HETAY50% HE
3HIDUHIE ®1inch N 65,000 325 65,000 325 |BEET22 50% HE
Egapl 2.5ton hr 9,437 1,887 33,571 6,714 647 46,245 9,248 |BEEF22 50% HE
HOEY 2.5ton hr 7,083 1,416 47,231 9,446 1,233 60,483 12,095 |BEF22 50% HE
S HI el E2l 3% & 928 928 928 928 |2024 AMTFEZM(ALADAL) P.746
AAH(&XIHI) 4,556 47,118 1,888 53,562
Al 140,056 47,118 1,888 189,062




p) = H
M Z 8l L 24l s
25 7= > ST
& Ot Z o & It =R o e ot = o
u:30E =
6 437 438 AT 21 2 5 a1 000525850, 00000)
Al 437 437
H : ZHED|(25kw)-'Al2'E
25kw 3.237 3,237 3,287 %?iﬁaiiﬁ%giié?ﬁ&&&z@s@%.oooooo1
0.001W% S 1,770 7,611 1,770 7,611 2024.01 HeHot= P.1451
FHZO| 24% 7,611 1,826 7,611 1,826
28 A 33,571 33,571 33,571 33,571 |M4s=
Al 9,437 33,571 3,237 46,245
* HI3&H : GO E=(2.5ton)-'Al2H'E
2.5ton 6.169 6.169 6.169 %?iﬁaiiﬁ%giiggﬁgéggzgf%.oooooo1
0.001W% S 1,770 5,133 1,770 5,133 |2024.01 HeHIt= P.1451
FHZ 2| 38% 5,133 1,950 5,133 1,950
A 47,231 47,231 47,231 47,231 M55 E
Al 7,083 47,231 6,169 60,483
* 4SS H : AEDIHSEA-AY'Y
|28 A 161,142 33,571 161,142 33,571 | 12I1F AI2ExA 01 H 4:x & XI H 4==(1/8)x(16/12)x(25/20)
* RIS H : SISXUHST A=Al
A 226,709 47,231 226,709 47,231 1LIIEA2xAHO 2 2x 5 X1 2 4= (1/8)x(16/12)x(25/20)
=
2024.1.101& - 214,222 214,222 214,222 214,222
2024.1.1J1& - 165,545 165,545 165,545 165,545
2024.1.101& - 243,126 243,126 243,126 243,126
2024.1.1J1& - 210,152 210,152 210,152 210,152
S8 A 2024.1.101& - 161,142 161,142 161,142 161,142
& A 2024.1.101& - 226,709 226,709 226,709 226,709




	8...BI-PB-H1400xW2000,분체-2401
	표지
	일위대가
	기본대가

	8S...BI-PB-H1400xW2000,스텐-2401
	표지
	일위대가
	기본대가


